
 

CLASS I 

 
                STATE OLYMPIAD COMBINED TEST 

MODEL QUESTIONS 
ENGLISH 

F.M. - 40  

Division of Marks 

 

          I] MCQ -    1x8=8 

a] Grammar -20             II] Very Short type -   1x4=4 

        Iii] Short type (in full sentence)- 2x4=8 

 

       I] MCQ -               1x4=4 

b] Vocabulary -10           II] Very Short type -   1x4=4 

      Iii] Short type (in full sentence)- 2x1=2 

 

          I] MCQ -    1x3=3 

c] Translation & Spoken expression -10        II] Very Short type -   1x3=3 

         Iii] Short type (in full sentence)- 2x2=4 

 

 

1.  i] The feminine gender of the word ‘nephew’ is -    1 

  a] mother   b] niece   c] sister 

     ii]The word 6 they’ is a -                                                                                   1 

a] Noun  b] Adjective   c] Pronoun 

2.       i] Fill in the blank with suitable be- verb :                                                        1 

                       I……………….very fond of cricket. 

          ii] What is the opposite word to ‘beautiful’?                                                     1 

3.  Translate the following sentence in to English:                                                                      

          i] B¢j i¡a M¡Cz 
         Ans: 

4.     i] Someone said ‘Good morning to you’. What would you say in reply?  

         Choose the correct expression :                   2 

 a] good night       b] good evening to you c] good morning you too. 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

                 STATE OLYMPIAD COMBINED TEST 

MODEL QUESTIONS 
ENGLISH 
CLASS II 

F. M. -40 

Division of Marks: 

 

i] MCQ -                                   1x8=8 

a] Grammar - 20           ii] Very Short type -                                   1x4=4 

                                        iii]Short type (in full sentence) -                                       2x4=8 

 i] MCQ -                                                                           1x4=4 

b] Vocabulary - 10       ii] Very Short type -                                                    1x4=4 

iii] Short type (in full sentence) -                                    2x1=2 

i] MCQ -    1x3=3 

c] Translation & Spoken expression - 10    ii] Very Short type -    1x3=3 

iii] Short type (in full sentence) -    2x2=4 

1.The plural number of the word ‘wife’ is – 

 a) Wifes b) Wives c)Wifess 

2. The word ‘intelligent’ is a – 

 a) Noun  b) Pronoun c)Adjective 

3. i) Fill in the blanks choosing the correct verb from the bracket: 

 Rabi ................... come tomorrow. [shall / will] 

ii) What is the feminine gender of the word ‘servant’? 

      iii) Translate the following sentence in to English: 

       a) Bj¡l h¡h¡ HLSe X¡š²¡lz 
Ans:-  

4..Suppose you want to enter the class. How will you ask for the permission to your teacher? 

Choose the correct expression: 

 a) May I come in, Sir / Madam? b) Do I come, Sir / Madam?   C) Shall I go out, Sir / 

Madam ? 
 

 

 



 

 

           
                 STATE OLYMPIAD COMBINED TEST 

MODEL QUESTIONS 
ENGLISH 

 

F.M.-40

 Class III 
  

Division of Marks: 

        a) Grammar – 20                                               i] MCQ –     1x8=8 

                                                                           ii] Very Short type -   1x4=4 

                                                                           iii] Short type(in full sentence)  2x4=8 

        b) Comprehension – 10                                     i] MCQ –               1x3=3 

                                                                            ii] Very Short type -   1x3=3 

                                                                            iii] Short type (in full sentence)     2x2=4 

        c) Translation & Spoken Expression – 10        i] MCQ –     1x3=3 

                                                                            ii] Very Short type -   1x3=3 

                                                                                 iii] Short type (in full sentence     2x2=4 

1. i)The plural number of the word ‘radio’ is – 

  a) radioes b) radios c)radioss 

ii)The word ‘very’ is a – 

  a) Noun  b) Adverb c)Adjective 

2. Arrange the following jumbled letters to form a word: 

 i) OCDROT = ? 

3. Fill in the blanks choosing the correct preposition from the bracket: 

a) The boy jumped ............... (in / into) the river. 

4.Translate the following sentence in to English:                                                                                                 

 a) ­p Bj¡­cl h¡¢s Bp­Rz 
.             Ans.  

5.Suppose, you need to request someone to give you a pen. What will you say? Choose the correct 

expression: 

 a) You give me a pen. b) I want your pen.  C) Will You give me your pen 

please? 

 

 

 

 

 

 

 

 

 



 

 

              

                   STATE OLYMPIAD COMBINED TEST 
MODEL QUESTIONS 

ENGLISH 

CLASS – IV 

F.M. -40 

Division of Marks : 

 

 

 

 
        a] Grammar – 20                                               i] MCQ -  1x8=8 

                                          ii] Very Short type - 

 

1x4=4 

                                                                                    iii] Short type (in full sentence) -                      2x4=8 

       b] Vocabulary – 10                                             i] MCQ - 

 

1x4=4 

                                                                                     ii] Very Short type - 

 

1x4=4 

                                                                         iii] Short type (in full sentence)-    

2x1=2 

 

       c] Translation & Spoken Expression – 10        i] MCQ - 1x3=3 

                                                                                    ii] Very Short type - 1x3=3 

                                                                     iii] Short type (in full sentence)-  2x2=4 

1. i] The past participle of the word 4 Rise’ is –  

          a] rised             b] rose         c] risen 

 

         1 

   ii] The plural number of the word 4 brother-in-law’ is - 
 

        1 

        a] brothers-in-law        b] brotheres-in-law c] brother-in-law 
 

2. i] Fill in the blank choosing the appropriate interjection from the bracket:                                   1 

! India has won the match. [ Hurrah / Alas] 
  

ii] What is the antonym to the word /beautiful’? 
 

         1 

3. Choose the odd-one out : 
 

         1 

      a] chair   b] table   c] fan d] bench 

4. Translate the following sentence in to English:                                                                                                 

     i)N‰¡ i¡l­al HL¢V f¢hœ ec£ । 
 

 

0 

 

 

 

         2 

        Ans. 
  

5. Suppose, you have to beg apology as you have come late. Choose what would you say ? 

a] O came late. b] I’m happy to come late. 
 

 

 

 

 

 

 

 

 

c] Sorry, for 

coming late. 

 

 

 

 

 

 

 

 

 

 



 

 

                          STATE OLYMPIAD COMBINED TEST 
                          MODEL QUESTIONS 

                                      ENGLISH 

CLASS – V 
F.M. -40 

 
 

Division of Marks: 

 ---   -----------------------------   

 

 
 

 

 

  

a] Grammar – 20                            i] MCQ - 1x8=8 

                                               ii] Very Short type - 1x4=4 

                                                        iii] Short type (in full sentence) 

-  

2x4=8 

b] Vocabulary – 10                        i] MCQ - 1x3=3 

                                                        ii] Very Short type - 1x4=4 

                                                       iii]Short type (in full sentence) 2x2=4 

c] Spoken expression – 10            i] MCQ -      

1x3

=3 
                                                       ii] Very Short type -     

1x3

=3 
                                                      iii] Short type (in full sentence) -                                                 

2x2=4 1. i] The sentence ‘open the door’ is a /an - 
 

                

1       a] assertive sentence             b] interrogative sentence c] imperative 

sentence 

       ii] The word ‘cycle’ is a – 

 a) masculine  b) neuter c) common gender 

2.What will you reply to when one says ‘good morning’?                                        

                                                           1 

3.Translate the following sentence into English:                                                                                  

              2                                                                                                                                  

a) Bp¡j i¡l­al Ešlf§­hÑ Ah¢ÙÛaz 

 Ans. 

4. Read the following lines and state whether the sentences given below are true and false:              

2  

Diego Maradona was a great footballer from Argentina. He played for different clubs in 

Europe. He won the World Cup for his country7 in 1986. 

i] Maradona was an Argentina player. _____  

ii] Maradona never won the world cup. _________  

5. Suppose, you need to request someone to give you a pen. Will yoy say?        

2 

a] You give me a pen. 

b] I want your pen. 

c] Will you kindly give me your pen? 

 

 

 



 

                   STATE OLYMPIAD COMBINED TEST 
MODEL QUESTIONS 

ENGLISH 

CLASS – VI 

 

F.M. -40 
 

Division of Marks: 

          a)Grammar – 20                                               i] MCQ –                                                 1x8=8 

                                                                                  ii] Very Short type -                             1x4=4 

                                                                                 iii] Short type (in full sentence)                

2x4=8 

         b) Comprehension – 10                                   i] MCQ –                                                   1x3=3 

                                                                                  ii] Very Short type:-                          1x3=3 

                                                                         iii] Short type (in full sentence)                2x2=4 

        c) Translation & Spoken Expression – 10        
                                                                                    i] MCQ –                                                   1x3=3 

                                                                               ii] Very Short type -                             1x3=3 

                                                                             iii] Short type (in full sentence)                 2x2=4 

1. i] The passive voice of the sentence “We obey him” is-                                                       1                            

a] He is obeys by us.      b] He is obeyed by us.       c] He is obeying by us. 

   ii] The word ‘nevertheless’ is a - 

        a] noun                           b] conjunction                     c] preposition 

2.Read the following lines and state whether the sentences given below are true and false:      2 

Diego Maradona was a great footballer from Argentina. He played for different clubs in 

Europe. He won the World Cup for his country in 1986. 

i]Maradona was an Argentina player. ______  

        ii]Maradona never won the world cup. ______  

3.Replace the underlined word in the following sentence with the word in the bracket 

having the similar meaning : 1 

Arun rarely absents himself from school. [ seldom / always] 

4.Translate the following sentence in to English:                              2 

          a) ­a¡j¡l h¡h¡ J j¡ c¤S­eC ¢L Q¡L¢l L­le? 
Ans.. 

5. Suppose, someone gives you a proposal, but you cannot agree with it. Tell how would you 

show your disagreement.                                                                                                              2 

Ans. 

 

 

 

 

 

 



 

                  STATE OLYMPIAD COMBINED TEST 
MODEL QUESTIONS 

ENGLISH 

CLASS – VII 

 

 

F.M. -40  
 

Division of Marks: 

           a) Grammar – 20                                                     i] MCQ –      1x8=8 

                                                                                      ii] Very Short type -    1x4=4 

                                                                                      iii] Short type(in full sentence)    2x4=8 

           b) Comprehension – 10                                           i] MCQ –       1x3=3 

                                                                                      ii] Very Short type -     1x3=3 

                                                                                      iii] Short type (in full sentence)    2x2=4 

           c)   Spoken Expression – 10                                    i] MCQ –       1x3=3 

                                                                                      ii] Very Short type -     1x3=3 

                                                                                     iii] Short type (in full sentence)    2x2=4 

 

iii] i] The comparative degree of the sentence of ‘piku is not as honest as Tiku’ is -  1 

a] Tiku is more honest than Piku b] Piku is more honest than Tiku. 

                                                                         C] Tiku is not more honest than Piku. 

ii]The one word substitution for the expression ‘that can be eaten’ is -    1 
; I 

              a] usable              b] audible           c] edible 
iv] Add a prefix before the word ‘guide’ to form a new word :     1 

Ans: 

v]  Complete the following chart : 

            Cause Effect 

   We love India. 

vi] Suppose you choose a particular shirt at a shop to buy. How would you say your preference to 

the shopkeeper? :            2 

Ans. 

vii] Your friend has invited you to join him on a tour to Darjeeling. How would you express your 

agreement to it?            2 

Ans. 

 

 

 

 



 

 

                
    STATE OLYMPIAD COMBINED TEST 

MODEL QUESTIONS 
ENGLISH 

CLASS – VIII 

 

F.M. -40  

Division of Marks: 

            a) Grammar – 20                                                   i] MCQ –         1x8=8 

                                                                                      ii] Very Short type -       1x4=4 

                                                                                      iii] Short type(in full sentence)      2x4=8 

         b) Comprehension – 10                                            i] MCQ –         1x3=3 

                                                                                      ii] Very Short type -       1x3=3 

                                                                                      iii] Short type (in full sentence)      2x2=4 

 

        c)  Spoken Expression – 10                                     i] MCQ –                            1x3=3 

                                                                                     ii] Very Short type -      1x3=3 

                                                                                    iii] Short type (in full sentence)     2x2=4 

1. i] The participle adjective formed from the word ‘injure’ is --                1 

            a] injures               b] injuring                   c] injured 

    ii] ‘Gerand’ is a –                                                                                                                           1 

            a] Adjective b] Verbal pronoun       c] Verbal noun 

2. Change the following sentence into indirect speech :                1 

Tanmoy said, “ I always obey my elders.” 

   Ans. 
 

3. State whether the  following statement is true or false :               1 

‘ Students should be very attentive to their studies. ’ 

  Ans. 
 

4. Write 20 words on the processing of tea at home.               2 

Ans 

5. Write how would you express your surprise to see a tiger in the zoo.              2 

Ans 

 

 

 

 

 



 

              
    STATE OLYMPIAD COMBINED TEST 

MODEL QUESTIONS 
ENGLISH 

CLASS – IX 

 

 

F.M. -40  
  

Division of Marks: 

     a) Grammar – 20                                                 i] MCQ –                         1x8=8 

                                                                           ii] Very Short type -             1x4=4 

                                                                           iii] Short type(in full sentence)            2x4=8 

      b) Comprehension – 10                                      i] MCQ –                         1x3=3 

                                                                            ii] Very Short type -             1x3=3 

                                                                            iii] Short type (in full sentence)            2x2=4 

      c) Spoken Expression – 10                                i] MCQ –               1x3=3 

                                                                            ii] Very Short type -             1x3=3 

                                                                                 iii] Short type (in full sentence              2x2=4 

1. i] The meaning of the idiom ‘up in arms’ is -              1 

             a] pleased             b] angry'      c] surprised 

ii] The suitable phrasal verb to replace the underlined word in the sentence - ‘The rain has begun’  1 

             a] set out             b] set up    c] set in 

2. Transform the following sentence into a complex sentence :           2 

      Inspite of being poor, he is happy. 

      Ans. 

3.Join the following pair of sentences into a compound sentence:                                              2 

Arindam is tired .He plays the match. 

Ans. 

4.Correct the error in the following sentence :                                                                          1 

The boy studies for the last two hours.  

Ans 

3. Say in brief how would you advise your younger brother always to cross the road by the 

Zebra Crossing. 2 

Ans. 

 


